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%1 MIC range BT MIC

MIC: tg/mL
4 50 K| | MIC range | MICs MICg MICyg
TEIC 0.25 - 8 1 1 2
w1 [ MRSA(330 #k)
VCM 0.5-2 1 1 1
TEIC 0.25 - 8 1 1 2
% 2 [\ MRSA(360 #%)
VCM 0.5-2 1 1 1
TEIC 0.25 -8 1 1 2
# 3 [ MRSA(390 ££)
VCM 0.5-2 1 1 1
, TEIC 0.25 -8 1 1 1
5 4 [1] MRSA(200 ££) KMICso ++++ 50%F/ NS T BELLL 2 BE
VM 0.5 9 1 1 1 50 fc/NE BRI R EE
kMICgg ++++ 80%H/ & F BHL L i
TEIC 0.25 -8 0.5 1 1 " PRI
%5 [A] MRSA(200 #£) (MICgy *+++ 90%f5/INFE T RELIE P2
VCM 0.5-2 1 1 1




&2 MIC 7R UMC RENMIER (ER=#%HK. TR=2E%"

<F5 1A
MIC .
<0.06| 0.12 | 0.25 | 0.5 1 2 4 8 16 32 64 128 | >128 | A&t
(p g/mL)
TEIC 0 0 8 137 | 136 34 13 2 0 0 0 0 0 330
0.0) | €0.0) | (2.4) | (43.9) | (85.2) | (95.5) | (99.4) |(100.0){(100.0)|(100.0){(100.0)|(100.0){(100.0)
veu 0 0 0 70 250 10 0 0 0 0 0 0 0 330
(0.0) | (0.0) | €0.0) | (21.2) | (97.0) [(100.0)|(100.0)|(100.0)|(100.0){(100.0){(100.0){(100.0){(100.0)
2]
MIC .
<0.06| 0.12 | 0.25 | 0.5 1 2 4 8 16 32 64 128 | >128 | &t
(u g/ml)
TEIC 0 0 1 121 | 173 46 14 5 0 0 0 0 0 360
(0.0) | €0.0) | (0.3) | (33.9)|(81.9) | (94.7) | (98.6) [(100.0)|(100.0)|(100.0){(100.0)[(100.0){(100.0)
veu 0 0 0 54 301 5 0 0 0 0 0 0 0 360
0.0) | €0.0) | (0.0) | (15.0) | (98.6) |(100.0){(100.0){(100.0)|(100.0)|(100.0){(100.0)|(100.0){(100.0)
- 5 3[H]
MIC .
<0.06| 0.12 | 0.25 | 0.5 1 2 4 8 16 32 64 128 | >128 | &t
(pg/mL)
TRIC 0 0 5 153 | 159 36 28 9 0 0 0 0 0 390
(0.0) | €0.0) | (1.3) | (40.5) | (81.3)](90.5) | (97.7) [(100.0){(100.0)|(100.0){(100.0)|(100.0){(100.0)
VoM 0 0 0 89 293 8 0 0 0 0 0 0 0 390
(0.0) | €0.0) | (0.0) | (22.8) | (97.9) |(100.0){(100.0){(100.0){(100.0)|(100.0){(100.0){(100.0){(100.0)
=W
MIC .
<0.06| 0.12 | 0.25 | 0.5 1 2 4 8 16 32 64 128 | >128 | &t
(u g/ml)
TEIC 0 0 3 79 101 7 6 4 0 0 0 0 0 200
(0.0) | €0.0) | (1.5) | (41.0) | (91.5) | (95.0) | (98.0) [(100.0){(100.0)|(100.0){(100.0){(100.0){(100.0)
veu 0 0 0 49 150 1 0 0 0 0 0 0 0 200
0.0) | €0.0) | (0.0) | (24.5) | (99.5) |(100.0){(100.0){(100.0){(100.0)|(100.0){(100.0)|(100.0){(100.0)
5 5[H]
MIC .
<0.06| 0.12 | 0.25 | 0.5 1 2 4 8 16 32 64 128 | >128 | &t
(u g/mL)
TEIC 0 0 8 107 78 1 5 1 0 0 0 0 0 200
(0.0) | €0.0) | (4.0) | (57.5) | (96.5) | (97.0) | (99.5) [(100.0){(100.0)|(100.0){(100.0)[(100.0){(100.0)
VOM 0 0 0 85 110 5 0 0 0 0 0 0 0 200
(0.0) | €0.0) | (0.0) | (42.5) | (97.5) |(100.0){(100.0){(100.0){(100.0)|(100.0){(100.0)|(100.0){(100.0)




X1 MRSA [T % MIC 2FEH W

%1 [A] %520
1000 = — 1000 = —
. 80.0 80.0
S g
ﬁ 60.0 % 60.0
K Y
g 40.0 ] TEIC g 40.0 [ TEIC
B 20.0 v, VCM B 20.0 &> VCM
0.0 — 0.0 —
DN Y N D Yo DN YN D
Q¥ © PO
MIC(ug/mL) MIC(ug/mL)
[y Jipe
7% 3 [nl 75 4 [
1000 — 100.0 —
80.0 ; 80.0
S S
;K: 60.0 g 60.0
£ £
¥ 40.0 i TEIC ﬁ 40.0 i TEIC
B
20.0 7, VM 20.0 [ VCM
0.0 — 0.0
IR T T ) Yoo DN VB N D
RN P
MIC (ug/mL) MIC(ug/mL)
Vivad
%5 5 [A]
100.0 -+ —
80.0
S
& 600 7
i
B 40.0 - TEIC
B VCM
20.0
0.0 -
Yo D N VN D
> Y ™
MIC (ug/mL)




